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Example (cont.)
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Example

T

Spring Loaded Inverted Pendulum (SLIP) Model
often used to model walking
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Example (cont.)
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Generate a separate model for that phase. In simulation, we’d need to check for the
spring going into extension at each step. At that transition, we’d switch to the flight
model, using the system states at that transition as the initial conditions for the flight
phase of simulation. During the flight phase of the simulation, we’d check for ground
contact at each step of the solution. Once we see contact, we’d use the state at
contact as the initial condition for the next stance phase. This process would repeat
over the simulation duration.
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